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Run 5897 mpswise, accO: All

Enilries: 168300

Mean: 62758 +/- 0.0159

Sid Deery: B.5048 - 00112
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Run 5897, mpswise, acc0: Beam ON, Laser ON

Eniries: 81176

Mean: 14.6359 +/- 00056

Sid Dev: 1.3934 - 00040
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Run 5897 mpswise, acc(: Beam OFF

Enlries: 34405

Mearn: -0.1184 </- DUDODE

Sid Drev: 01168 & 0.0004
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Run 5897, mpswise, acc0: Beam ON, Laser OFF

Entries: 61418

Mean: 22190 +- 00015

Sid Drev: DLITRZ & 000701
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Run 5897 mpswise, BCM: All Run 5897 mpswise, BCM: Beam OFF
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Run 5897, mpswise, BCM: Beam ON, Laser ON Run 5897, mpswise, BCM: Beam ON, Laser OFF
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Run 5897 mpswise, lasPow: All
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Endries: 168200

Mzan: 1051.3805 +- 2.5514

Std Dew: 10453067 +- 1.8041
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Run 5897, mpswise, lasPow: Beam ON, Laser ON
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Eniries: 81176

Mean: 32082 F3T0 .- 0.7614

Sbd Dy 1083329 4/~ 05364

1400

1500

1600

1700

1800

1900

2000

2100 2200 2300
cavPowerCalibrated

18000

16000

14000

12000

10000

BOOD

6000

4000

2000

50000

40000

30000

20000

10000

Run 5897 mpswise, lasPow: Beam OFF

:_ Endries: 14405
:_ Maan: 1438.9266 4.+ 54084
E Sid Dwrw: 10046751 45+ 3.B2ED
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cavPowerCalibrated

Run 5897, mpswise, lasPow: Beam ON, Laser OFF

Entries: 61418

Mean: 75343 +/- 00312

Sid Dey: 77393 «- 00221
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Run 5897 mpswise, bpmAx: All Run 5897 mpswise, bpmAx: Beam OFF
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Run 5897, mpswise, bpmAx: Beam ON, Laser ON Run 5897, mpswise, bpmAx: Beam ON, Laser OFF
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Run 5897 mpswise, bpmAy: All

Entries: 163200

Mean: 001150 4 0.0002
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Run 5897, mpswise, bpmAy: Beam ON, Laser ON

Enitries; 61116

Mean: 001386 +- 0.0001
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Run 5897 mpswise, bpmAy: Beam OFF
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E Mear: 00305 +/- 0.0008
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Run 5897, mpswise, bpmAy: Beam ON, Laser OFF
:_ J— Entries: 61418
E Mean: 001353 +/- 0,000
:_ J- Sid Deyw: 00227 - 0.0001
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Run 5897 mpswise, bpmBx: All
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Run 5897, mpswise, bpmBx: Beam ON, Laser ON
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Run 5897 mpswise, bpmBx: Beam OFF
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Run 5897, mpswise, bpmBx: Beam ON, Laser OFF
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Run 5897 mpswise, bpmBy: All

[

Entries: 163200

Mean: 04821 +- 0.0015

Sid Dev: 0B322 & 000711
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Run 5897, mpswise, bpmBy: Beam ON, Laser ON

Enitries; 61116

Mean: 07950 +i- 0.0001

Sid Dey: 0.0239 «- 0.0001
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Run 5897 mpswise, bpmBy: Beam OFF
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Run 5897, mpswise, bpmBy: Beam ON, Laser OFF

Entries: 61418

Mean: 0.78711 +- 0.0001

Sid Dey: 00227 +- 0.0001
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Run 5897 mpswise, beam ON, laser ON
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mpsCoda

Run 5897 mpswise, beam OFF, laser ON
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Run 5837 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser OFF
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BCM

BCM

Run 5897 mpswise, beam ON, laser ON Run 5897 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser ON Run 5897 mpswise, beam OFF, laser OFF
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Cav Power

Cav Power

Run 5897 mpswise, beam ON, laser ON Run 5897 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam ON, laser ON
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Run 5897 mpswise, beam OFF, laser ON
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Run 5837 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser OFF
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BPM Ay
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Run 5897 mpswise, beam ON, laser ON
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Run 5837 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser ON Run 5897 mpswise, beam OFF, laser OFF
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Run 5897 mpswise, beam ON, laser ON
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Run 5897 mpswise, beam OFF, laser ON
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Run 5837 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser OFF
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Run 5897 mpswise, beam ON, laser ON
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Run 5837 mpswise, beam ON, laser OFF
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Run 5897 mpswise, beam OFF, laser ON Run 5897 mpswise, beam OFF, laser OFF
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